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N H* | BB* | M*! L L5 SFC Sfcﬁﬁ
=X
B (g/cm?) *2 3.16 3.14 3.04 3.21 3.24 3.22 3.08 3.22
tEERERE(cm?/g) 2800< | 3900s= | 3300s | 2900= | 2900< | 3100 | 5000s | 3000s=
RS LR 1-00s | 0-45= | 1-00< | 1-00s< | 1-00< | 1-00s | 1-00= | 1-00=
(h-m) a4 10-00z | 10-00z | 10-002 | 10-002 | 10-00= | 10-00= | 10-002 | 10-002
ZEMHE =] =] =] =] B I=! B B
1d - 17.0= - - - - — -
3d 20.5< 37.5< 13.0= 13.0= - - - -
AR 7 d 35.0= | 47.0= 24,55 20.5% 7.5< 8.5< 50<*3 8.5<
(N/mm?) 28d 52.0= 55.5< 50.0= 50.0= 37.0s | 46.0s | 70s*® | 40.0s
91d - - - - 63.5< 65.5= | 90=*3 | 55.0=
IKFER 7d 3502 - - 290z 2502 2502 - 2502
(3/9) 28d 4002 - - 340z 2902 2902 - 2902
AL TR L (%) 5.0z 5.0z 0z 5.0z 5.0z 5.0z 5.0z 5.0z
=B EHREE (%) 3.52 3.5z 4.0z 3.0z 3.52 3.5z 3.0z 3.5z
BENEE= (%) 5.0z 5.02 = 3.0z 3.0z 3.0z 3.2z 3.0z
27IHY(%) 0.752 0.75z - 0.752 | 0.752 0.752 | 0.752 0.75z
B A (%) 0.0352 | 0.02z - 0.02= | 0.022 0.02= | 0.022 0.022
C3S(%) - - - 502 - - - -
C2S(%) - - - - 40s 40= - 40=
C3A(%) - - - 8z 62 62 - 62
0 3 T70—-& F&(mm)*3 - - - - - - 1002 -
BAEHICED 1A% - - - - - - 5-00=< _
EEh-m) | g - - - - - - 15-002 -
SRR E(%) - - 40~45 - - - - -
SFIRAE(%) - - - - - - 10.0£1.0 -
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Z B VER(%) 85.0=
BRI %) 5.02
=BEBEAREE (%) 3.0z
WEBHEA L LD %) 1.02
WEREFVER (%) 0.42
BACYDA A (%) 0.102
SRENRE (%) 4.0z
w3 (%) 3.0z
tERmERE(m?/g)* 15=
SEEERER | 7d 95=
(%) 28d 105=
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